(2003a)
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Vp=1.6km/s,Vs=350m/s
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( 1999)*°

10
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1999 *
2002 12
1999
523 ,P63-70.
(1999) 10
603 715
(2002)
10 31

Vs=550m/s



2003b" 2003c"*
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2003b

2003c
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N34=31'10" E135=38'42" N34=25'10" E135=40'50"
N34=25'10",E135=40'50" N34=16'14" E135= 314"
[€] N16=W N74°E
S 43° 43°
A 90= 180=
L 12km 60km
W 16.1km 16.1km
Si b Si=Lw 95.0km* 871.0km’
S S=>si 966.0km’
Hs 4.0km
Hd 15.0km
Mo ©) 5=4.24>10""Mo™? 5.19><10"°N m
Mw logMo=1.5Mw+9.1( 7.1
o ©=7/16 Mo/(S/10)** 4.2 MPa
8] p=pVs 3.12>10"° N/m?
D (5) Mo=p1 D S 172.2cm
A (6)  A=2.46>10"Mo*"* 1.98><10" N m/s’
Sa Sa=7Tr (7)  r=(7TU/4)<Mo/(A R) B2 283.5km?
Da (10) Da=Dx=2 344.4cm
Moa (5) Moa=p1 Da Sa 3.05><10"N m
ca (15-2) oa=(7/16)<Mo/(* R 14.4MPa
Sa; 2000 Sa;:Sa,=2:1 189.0km?
Day (14) Da=(y/=y: Da 381.6cm
Moa, Moa,=p1 Da Say 2.25%10"N m
oa; oa; oa 14.4MPa
Sa2 2000 Sal:Sa2=2:1 94.5km’
Da, (14) Da=(y/=Vy;: Da 270.0cm
Moa, Moa,=ju Da, Sa, 7.96><10"N m
oa, oa, oa 14.4MPa
Sb Sh=S-Sa 682.5km?
Db (13)  Db=Mob/(ju Sb) 100.7cm
Mob (12)  Mob=Mo-Moa 2.14><10"N m
ob (18) ob=(Db/Wb)><(1t¥%/Da) r =yi* ca 3.2MPa
1
3 (b) 5
3 (o)
Ludwig et al.(1970) 3.4km/s
(23)  Vr=0.72vs 2.4km/s




